



Match Results of Day 3



VOLLEYBALL Collated results & ranking

2016 World ParaVolley Intercontinental For Women Results of Saturday, March 19, 2016



MATCH RESULTS

						NQW						
No	Date	-	Teams	Set		Result	per set (points)		Total	Time	Spectators
	Duto		louino	000	1	2	3	4	5	Points		opectators
34	3/19/2016	NED	- ITA	3-0	25-7	25-15	25-9			75-31	0:51	
37	3/19/2016	RUS	- SLO	3-0	25-14	25-11	25-23			75-48	0:53	
45	3/19/2016	JPN	- EGY	3-1	25-20	25-14	20-25	25-20		95-79	1:41	

						QW						
No	Date		Teams	Set		Result	per set (points)		Total	Time	Spectators
	Date		leans	561	1	2	3	4	5	Points	inne	Specialors
35	3/19/2016	BRA	- IRI	3-0	25-19	25-16	25-22			75-57	1:15	
38	3/19/2016	UKR	- USA	0-3	13-25	21-25	25-27			59-77	1:00	
43	3/19/2016	IRI	- CAN	3-0	25-19	25-23	25-15			75-57	1:01	
46	3/19/2016	CHN	- BRA	2-3	23-25	27-29	25-15	25-16	17-19	117-104	1:56	
49	3/19/2016	RWA	- UKR	1-3	25-23	17-25	17-25	12-25		71-98	1:20	



VOLLEYBALL Collated results & ranking

2016 World ParaVolley Intercontinental For Men Results of Saturday, March 19, 2016



MATCH RESULTS

						QM						
No	Date	т	eams	Set		Result	per set (points)		Total	Time	Spectators
	Date	· · ·	camo	Jet	1	2	3	4	5	Points	TIME	opectators
33	3/19/2016	IRI	- USA	3-0	25-10	25-17	30-28			80- 55	1:07	
36	3/19/2016	BRA	- CHN	3-1	25-15	23-25	25-22	25-17		98-79	1:33	
42	3/19/2016	GER	- EGY	0-3	21-25	22-25	15-25			58-75	1:09	

						NQM						
No	Date		Teams	Set		Result	per set (points)		Total	Time	Spectators
	Date		Teams	Jel	1	2	3	4	5	Points	Time	Specialors
39	3/19/2016	RUS	- IRQ	3-0	25-21	25-14	25-11			75-46	0:56	
40	3/19/2016	POL	- CAN	3-2	25-18	14-25	20-25	25-23	15-11	99-102	1:38	
41	3/19/2016	JPN	- KAZ	0-3	12-25	14-25	11-25			37-75	0:53	
44	3/19/2016	UKR	- NED	3-0	25-19	25-23	25-17			75-59	1:02	
47	3/19/2016	KOR	- POL	3-2	25-19	19-25	16-25	25-22	15-12	100-103	1:38	
48	3/19/2016	KAZ	- RUS	0-3	8-25	9-25	19-25			36-75	0:49	





	2016	World I	ParaVo	lley In	ntercon	ntinent	tal Nor	n-Qual	ified	l Wome	en (NG	W)Res	sults	Tab1	e
													a .		
No.	队名	SLO	EGY	ITA	RUS	NED	JPN	I atch		Points			Sets	r –	Ranking
	Team							Won	₩	L	Ratio	₩	L	Ratio	0
		\land	:	3:0	0:3	0:3	:								
1	SLO							1	181	186	0.973	3	6	0.5	4
			:	:	:	:	:								
		:	\searrow	:	0:3	0:3	1:3								
2	EGY							0	141	245	0.576	1	9	0.11	5
		:		:	:	:	:								
		0:3	:	\land	:	0:3	0:3								
3	ITA							0	117	225	0.52	0	9	0	6
		:	:	$ \rightarrow $:	:	:								
4	RUS	3:0	3:0	:	$\left \right\rangle$:	3:0	3	225	109	2.064	9	0	мах	1
, T	Res		:			:	:		225	105	2.004	5	ľ	INIAA	1
		3:0	3:0	3:0	:		:								
5	NED		0.0					3	225	119	1.891	9	0	MAX	2
		:	:	:	:		:								
		:	3:1	3:0	0:3	:									
6	JPN							2	199	204	0.975	6	4	1.5	3
		:	:	:	:	:									

-	20	016 Wo	rld Pa	raVoll	ley In	tercor	itinen	tal Qu	alifi	ed Wom	en (G	W) Res	sults	Table	1	1
	_								Tatch		Points			Sets		
No.	Team	UKR	RWA	CHIN	IRI	BRA	USA	CAN	Von	Ŧ	L	Ratio	Ŧ	L	Ratio	Ranking
1	UKR		3:1	0:3	3:2	:	0:3	:	2	293	318	0.921	6	9	0.667	3
			:	:	:	:	:	:	-	255	510	0.521	,	5	0.007	5
2	RWA	1:3	\sim	:	:	0:3	0:3	0:3	0	180	323	0.557	1	12	0.083	7
		:		:	:	:	:	:	Ů	100	525	0.007	-		0.005	
3	CHN	3:0	:	\sim	:	2:3	1:3	:	1	274	233	1.176	6	6	1	4
- U							•		1	2/4	255	1.170	Ū			- T
		2:3	1	:	Ν.	0:3	0:3	3:0								
4	IRI	<u> </u>							1	276	307	0.899	5	9	0.556	6
		1	3:0	3:2	3:0	$\overline{}$:	3:1								
5	BRA								4	356	285	1.249	12	3	4	2
		3:0	3:0	3:1	3:0	:		:								
6	USA								4	320	216	1.481	12	1	12	1
			3:0		0:3	1:3	<u> </u>	k :								
7	CAN								1	212	229	0.926	4	6	0.667	5
<u> </u>		:	:													





2016	2016 World ParaVolley Intercontinental Qualified Men (QM) Results Table	caVoll	ey Int	ercont	tinenta	ıl Qua]	lified	Men (Q	M) Re	sults	Table				
								-		Points			Sets		
No.	Team	CHN	EGY	NSN	BRA	IRI	GER	Hon	B E		Ratio	B =		Ratio	Ranking
-	CHN			3:1	1:3	0:3		1	226	247	0.915	4	7	0.571	-5
2	EGY				2:3	0:3	3:0	1	230	250	0.92	5	9	0.833	4
			/												
3	TTCA	1:3				0:3	0:3	0	173	252	0.687	1	6	0.111	9
	H GU	•													
4	BRA	3:1 	3:2				3:0	3	290	233	1.245	6	3	3	2
5	IRI	3:0	3:0	3:0				3	230	156	1.474	6	0	MAX	-
5	645)		0:3	3:0	0:3				192	10/	0 0/3	2	ť	0 5	
D	VIID	.	.				/	-	COT	т74	C+C.0	n	Þ	C.V	r r
															Ī





2016	6 World	World ParaVolley		Interco	ntinent	al Qua	Intercontinental Qualified Men	Men (NQM)		Results Ta	Table						
L C	a21	UQI	рще	nor			717	d04	DOT		Match	Poj	Points		Sets		Rankin
Ica	ULN	ЪЛТ	CUA	JEB	וסח	ясл	704	NUA	LUL		Ron	•	L Ba	Ratio 🛛	L	Ratio	g
UKR			0:3	3:0		3:0					2	197 1	170 1.1	1.159 6	m	2	4
												_	_				
IRQ			0:3	3:0	3:2	:		3:0			~	300 2	269 1.1	1.115 9	5	1.8	m
		/											_				
вше	3:0 	3:0 	/	••	•	3:0	3:0 	••			-	1 102	170 17	C1 AA 12	ſ	MAX	-
			/								F						4
TPW	0:3	0:3 				0:3 	0:3		3:1 		-	263 3	394 0.6	0.668 3	13	0.231	~
5				/							•				1		,
		2:3					0:3		2:3		•				,		
CAN	.		.	.	/		0	248 2	2/8 0.892	92 4	6	0.444	6
	. 0				1.						ľ	┢	┝	┝			Γ
NED		•			•	/	•		•		2	252 2	235 1.0	1.072 6	9	1	2
KAZ			0:3	3:0	3:0			3:0	3:0 		4	336 2	272 1.2	1.235 12	m	4	2
ava		0:3				0:3	0:3		3:2		-	2/15 3	20 865	5 2V2 0	;	576 0	2
NUA								/			-				1	<i>C17</i> 10	-
DOT				1:3	3:2		0:3	2:3			-	35.7 3	375 0.0	9 020 U	;	0 575	y
101											_	-			:		,
	_			_		_		_		-	-					_	-





Match Schedule

Sun 20 Mar 09:00hrs	09:00hrs	White v RED	ITA v EGY (NQW)	50	Green v Red	IRQ v UKR (NQM)	51	White v Blue		
	10:30hrs	Blue v Red	SLO v JPN (NQW)	52	White v Navy	CAN v KOR (NQM)	54	White v Blue	BRA v UKR (QW)	53
	12:00hrs				Navy v Red	RUS v POL (NQM)	56	Red v Black	CAN v CHN (QW)	55
	14:30hrs	Black v Blue	UKR v KAZ (NQM)	57	Blue v Red	USA v EGY (QM)	59	Yellow v Red	RWA v IRI (QW)	58
	16:00hrs	White v Red	JPN v CAN (NQM)	60	Red v White	IRI v BRA (QM)	61			
	17:30hrs	Orange v White NED v	NED v IRQ (NQM)	62	White v Red	CHN v GER (QM)	64	Black v Blue	CAN v USA (QW)	63
Mon 21 Mar 09:00hrs	r 09:00hrs	White v Blue	CHN v RWA (QW)	65	Navy v Black	POL v UKR (NQM)	67	Blue v White	BRA v USA (QM)	99
	10:30hrs	Yellow v White	UKR v CAN (QW)	68	Blue v White	KAZ v NED (NQM)	70	White v Red	EGY v CHN (QM)	69
	12:00hrs	Red v Green	USA v BRA (QW)	71	White v Blue	GER v IRI (QM)	73	Red v Black	CAN v RUS (NQM)	72
	14:30hrs	Green v Black	IRI v CHN (QW)	74	Orange v Red	NED v RUS (NQW)	76	White v Black	KOR v JPN (NQM)	75
	16:00hrs	Red v Blue	POL v NED (NQM)	77	Red v White	EGY v SLO (NQW)	79	Green v Yellow	IRQ v KAZ (NQM)	78
	17:30hrs				Red v Black	UKR v CAN (NQM)	80			
Tue 22 Mar 09:00hrs	09:00hrs	Red v Blue	JPN v NED (NQW)	81		5th v 6th QW	82	Red v Navy	RUS v KOR (NQM)	83
	10:30hrs	White v Blue	RUS v ITA (NQW)	84		5th v 6th QM	85			
	12:00hrs	White v Orange CAN v	CAN v NED (NQM)	86		2nd v 3rd QW	87	Navy v White	POL v IRQ (NQM)	88
	14:30hrs	White v Black	KOR v UKR (NQM)	89		2nd v 3rd QM	90	White v Red	JPN v RUS (NQM)	91
	16:00hrs					1st v 4th QW	92			
	17:30hrs					1st v 4th QM	93			





SCHEDULE CHANGE – FINAL DAY – MARCH 23rd

In order to involve the Chinese Government and other Officials in the finals on the 23rd of March, the following revised schedule has been confirmed between World ParaVolley and the LOC. On the Finals day the VIP seats will only be available to invited VIPs.

Wed 23 Mar	09:00hrs	Bronze Medal QW	94	1st v 2nd Rio NQW	96	Bronze Medal QM	95
	11.00hrs			1st v 2nd Rio NQM	97		
	13.00hrs			Gold Medal QW	98		
	15.00hrs			Gold Medal QM	99		
	17.00hrs			Medal Ceremony			